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γ
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BD2 = 52 + 32 − 2 · 3 · 5 · cos(110̊ ) ≈ 44, 26

BD ≈
√
44, 26 = 6, 65

cos(β1) ≈ 5
2
−3

2
−6,65

2

−2·3·6,65
= 0, 707981

β1 ≈ arccos(0, 707981) = 44, 93̊

δ1 ≈ 180̊ − (110̊ + 44, 93̊ ) = 25, 07̊

A1 =
1

2
· 5 · 3 sin(110̊ ) ≈ 7, 05

cos(β2) ≈ 6
2
−6

2
−6,65

2

−2·6·6,65
= 0, 554405

β2 ≈ arccos(0, 554405) = 56, 33̊

cos(γ) ≈ 6,65
2
−6

2
−6

2

−2·6·6
= 0, 385269

γ ≈ arccos(0, 385269) = 67, 34̊

δ2 ≈ 180̊ − (56, 33̊ + 67, 34̊ ) = 56, 33̊

A2 ≈ 1

2
· 6 · 6 · sin(67, 34̊ ) = 16, 61

β = β1 + β2 ≈ 44, 93̊ + 56, 33̊ = 101, 26̊

δ = δ1 + δ2 ≈ 25, 07̊ + 56, 33̊ = 81, 4̊

A = A1 +A2 ≈ 7, 05 + 16, 61 = 23, 66

Trigonométrie : trigonométrie dans le triangle quelconque Corrigé 17.7


